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1. 4 + 2xy - 3x%y Td -5xy + x2y - 2xy?
% TITHe H T 6x2y — 9xy2 + 3xy — 5 &
Tehele] HITAT|

(A) 8x%y - 7xy? + 6xy - 9

(B) x?y — 6xy - 8

(C) -8x%y + 7xy? — 6xy + 9

(D) xy? + 15xy

A. (B)

B. (D)

C. (A)

D. (C)

Ans. D

Sol.

(4 + 2xy — 3x%y) + (—5xy + x%y — 2xy?) — (6x%y — 9xy? + 3xy — 5)

= —8x?y+7xy*—6xy +9

2.9/Gell H dcd U (?) A FfSw|
DABC, HEFG, ?, PMNO, TQRS
(A) 1IKL

(B) LIJK

(C) KIJL

(D) JIKL

A. (C)

B. (D)

C. (B)

D. (A)

Ans. C

Sol.

+4 +4 +4 +4
P

+4 +4
M

+4 +4

1st letter : D
+4

+4

H
+
2nd letter : A E
+
3rd letter: B F
G

w ™ e =

® O

+4 +4 +4

+4
4th letter : C (o]

Hence, the correct option is C.

3. @Ader: fae=r aroft grg aut & IR Sufaat
1 e (FAforTeT ) i &)

AR FT 3reTI HIFFT g 39 o 3maRa
geat & IR QAT

F9eT| 1984 | 1985 | 1986 | 1987 | 1988

TO |350 |400 |300 |350 |350
HO 170 |220 |250 |[225 |350
KO 230 |210 |250 |270 |300
YO 1300 1240 [150 [225 250

3 ot awif #F suelt KO vd HO &1 e
Torshr 31 aFm 37 82
(A) 200 fAfoze

e

gradeup

(B) 195 fAfaTs
(C) 5 A=

(D) IS A et

A. (A)

B. (B)

C. (O)

D. (D)

Ans. C

Sol.

Total sale of company ‘KO’ in last three
years= 250+270+300=820 millions
Total sales of company ‘HQO’ in last three
years= 250+225+350= 825 millions
Difference in the total sales of company
‘KO’ & ‘HO'= 825-820= 5Smillions

4. HiT-F 9T 1985 ¥ 1988 deh 379« fashr

# it Jefd axiich &2

(A) TO

(B) HO

(C) KO

(D) YO

A. (B)

B. (C)

C. (A)

D. (D)

Ans. B

Sol.

Gradual increase in sales from 1985 to
1988 is shown by company ‘KO’
(210,250,270,300)

5.9 it ast & foha sl T ol fashr
AT §7

(A) YO

(B) HO

(C) KO

(D) TO

A. (A)

B. (C)

C. (D)

D. (B)

Ans. D

Sol.

Total sales of different companies in first
three years

TO= 350+400+300= 1050

HO= 1704+220+250= 640

KO= 230+4+210+250= 690

YO= 300+240+150= 690

Clearly lowest sale is of company ‘HO’
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6.af¢ PEN = 613 3iR STRING = 580934

ar RIPENING =

(A) 09631934
(B) 09163934
(C) 09316934
(D) 09613934
A. (B)
B. (A)
C. (D)
D. (C)
Ans. C

Sol.
P E

Hence, option C is correct.

7.Th YA & e $S sy oA few 1w g
FYeT:

T &1 Jrfeerer oTsfRar Jefawer
IGAC2 R

I. el 7 IS 3T TISHT 18T |

I1. T ¥ F& iRl 3= JafaadT 8 &
AT AT Fr HiA-aA1 fASHY Thgerd & &
FUT O Arorar &

(A) adl sy I faeherdr g

(B) shadl Ty 11 fAeherar |

(C) forsany 1 3R 11 et fo¥epera §|

(D) T ar I & II fAherar g

A. (B)

B. (A)

C. (D)

D. (C)

Ans. A

Sol.

Since majority of girls in the class are

intelligent. This implies that a few girls
are not so intelligent.

e
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8. afieleotel FeueT S Teh fAEATd HRAI-
AT oGS ¢ Iog ool [ohd Alh o
AT I SATAT ATl 872

(A) Gt

(B) A

(C) gpFar ey

(D) Feeek

A. (B)

B. (A)

C. (D)

D. (©)

Ans. D

Sol.

e Nilanjana Sudeshna is an American
author known for her short stories,
novels and essays in English.

e She is known worldwide as "Jhumpa
Lahiri".

e In 2014, Lahiri was awarded the
National Humanities Medal.

e She is currently a professor of creative
writing at Princeton University.

9.Ush gfard 5 foral)./eer Y a1l & TIoiar & vd
TF q &1 18 fAeie 7 IR X Jar §| 9o H
TAFETE AT |

(A) 1500 #Hrex

(B) 1800 #ex

(C) 1250 #Arex

(D) 1200 #Hrex
A. (D)

B. (A)

C. (B)

D. (C)

Ans. B

Sol.

Speed of man=

5km/hr =5 X % m/min

Time taken= 18 min

Length of bridge= speed x time=
5 x % X 18 = 1500metre

10.7e faRIY Hedrg H ardshe T 3ok
AR g
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FoaTg + fe | afcmaw & aows
e 28
FHIR 32
Harerart 35
TER 30
Ferafaar | 31
YFAR 29
Aferar 29

Heag &1 3ad aasd Bl afeaaw & Far
oT?

(A) 29
(B) 30.5
(C) 31.5
(D) 32
A. (A)
B. (D)
C. (C)
D. (B)
Ans. D
Sol.

Average temperature of the week in
28+32+35+30+31+29+29 — 305

degree C= 7

11.5% T HUsT U9 HRF &ar = &
HUT (A): FARIB & T giet $Hr gfear g
gl 8

FOT (R): ThTATYOT ag Ufsham & forasT
FeRTST Foll, TATTeTeh FaT 3 deoral &
TEY 3R &M FeATd -

(A) 3=t FUT Td FROT FEY § FATR, A H
TEY SITEAT T & |

(B) A 3R R & WeT § ofdhet R, A &7 68T
SITEAT A6l HLdAT|

(C) A TEY § afeheT R T &

(D) A e & aifhet R T ¥

A. (B)

B. (C)

C. (D)

D. (A)

Ans. A
Sol.

P
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Assertion and reason talk about two
different entity. But both the statements
are true.

Hence, both statements are true.

But R is not the explanation of A.

Hence, option A is the correct response.

12. &g Harelel H 39 cdigfedr f3arsd &
FIT gl ST & ST 39 AT THT &
HTIET T-STSARISTT HIR T Tgdled il &7
(A) Tafgex

(B) g

(C) |AT3g

(()EIEI

A. (C)

B. (A)

C. (D)

D. (B)

Ans. A

Sol.

e A computer mouse is a hand-held
pointing device that detects two-
dimensional motion relative to a surface.
e This motion is typically translated into
the motion of a pointer on a display,
which allows a smooth control of the
graphical user interface.

e It is an Input Device.

e Douglas Engelbart is considered to
be inventor of Mouse.

13.hFgeX faeieT # €.d.g, 7 faFan &-
(A) S renfAT Fiefadr

(B) Y=gt AT gfae

(C) wfdhe thter Ffere

(D) shelerk Gl Jof

A. (D)

B. (B)

C. (A

D. (C)

Ans. B

Sol.

e A central processing unit (CPU) is
also called a central processor or main
processor.

e It is the electronic circuitry within a
computer that carries out the
instructions of a computer program by
performing the basic arithmetic, logic,
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controlling, and input/output operations
specified by the instructions.

e The computer industry has used the
term "central processing unit" at least
since the early 1960s.

14.T 3TId FT IRATT 28 TAY. §| IS 3=aa
T T ST 4 FHT &1, A qEdr e A
|

(A) 24

(B) 7

(C) 10

(D) 8

A. (D)

B. (A)

C. (B)

D. (C)

Ans. D

Sol.

Perimeter of rectangle = 2x(l+b)=

One side is given let it be length(l)=
4cm

Now equation become

2x(4+b)= 28

b=10

15.92Y f&ad e HATAT ST &7

(A) 18 RadFsx

(B) 25 3@Ed

(C) 22 31ar

(D) 7 31%a

A. (O

B. (D)

C. (A)

D. (B)

Ans. A

Sol.

e Earth Day is an annually celebrated
around the world on April 22.

e It is celebrated to demonstrate support
for environmental protection.

e It was first celebrated in 1970.

e It now includes events coordinated
globally by the Earth Day Network in
more than 193 countries.

16.9Y 2015 H HRJT Io1d & TSI & Tolod
aTell JUH gof T BT T Y| TSl T
&g &9 a1 82

P
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(A) FFITS ABeISA AT

(B) #IEs aeel 3

(C) FolieT ATSeISTeT T

(D) Freet 3R ASgIeTT

A. (A)

B. (D)

C. (O)

D. (B)

Ans. D

Sol.

e The first CNG train was launched from
Rewary on 14 January 2015 by railway
minister Suresh Prabhu.

e The train is Based on the dual fuel
system - diesel and CNG.

e It was launched from Rewari-Rohtak
section of Northern zone.

e Compressed natural gas (CNG) is a
fuel which can be used in place of
gasoline, diesel fuel and propane/LPG.

e CNG combustion produces fewer
undesirable gases than the
aforementioned fuels.

1791 T HEIT3T &I I[UTThe oloh ARTh &
e & R & Ud U HEAm 12 B, o gEdy
HEAT A9 HIfAT|

(A) 2

(B) 3

(C) 4

(D)5

A. (A)

B. (D)

C. (O)

D. (B)

Ans. C

Sol.

Let the numbers are x & Y

Then xy=(X+Y)..ccooceeune. (Given)

The value of one number let it be ‘x’'=
12........ (Given)

Now equation become

12y= 3(12+y)

y=4

18.%feae 3R gled’ Tohaehr HITHS I &2
(A) STa ATl

(B) ¢ore 3T

(C) g Shew
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(D) fer dexmet

A. (D)

B. (B)

C. (O

D. (A)

Ans. A

Sol.

e Calvin and Hobbes is a daily comic
strip created by American cartoonist Bill
Watterson.

e It was syndicated from November 18,
1985 to December 31, 1995.

e The first strip was published on
November 18, 1985 in 35 newspapers.
e He is an American former cartoonist.

19.41.dT. A=Y e g7

(A) AR Tie s

(B) IR $RAACIH eIl

(C) HRdT d3fdes dftaa

(D) R foRdhex

A. (A)

B. (B)

C. (D)

D. (C)

Ans. D

Sol.

e PV Sindhu (Pusarla Venkata Sindhu)
is an Indian professional badminton
player.

e She made her international debut in
20009.

e She has won medals at numerous
tournaments on the BWF circuit
including a gold at the 2019 World
Championships.

e She has been awarded by the Rajiv
Gandhi Khel Ratna, highest sporting
honour of India in 2016, Padma Shri, the
fourth highest civilian award of India in
2015 and Arjuna Award in 2013.

20.a’r3ﬁhaa'rﬁ$a‘1€r§tr@?g?rraﬁ§ram
1

Fol Ac & & a7 A 3w A 3FAGAR A A
8

Juaai s 15 wer A ucd AT vd B &Y

4900 FHeT UTec fohaT| STel 37T Fed FHcll T

TEIT AT AT

P
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(A) 10,500

(B) 11,800

(C) 12,600

(D) 14,200

A. (D)

B. (C)

C. (B)

D. (A)

Ans. B

Sol.

Let the total number of vote = 1
Number of invalid votes= 1/6
Then number of valid votes= 1-
(1/6)=5/6

‘A’ got 8/15 of valid votes then ‘B’
should have 7/15 of valid votes
Number of votes ‘B’ got=

% X g = 49,00 (Given)

Then value of 1= 12,600 which is equal
to the total number of votes

21. 9768 HIRAT HiT AT?

(A) T& 9fAgY ATCHHR

(B) T wflicy &ia

(C) T fhed fF&ATar

(D) T AEATd TAITRR

A. (O

B. (B)

C. (D)

D. (A)

Ans. C

Sol.

e Charles Correa was an Indian
architect, urban planner and activist.
e He is credited for the creation of
modern architecture in post-
Independent India.

e He was also known for his sensitivity
to the needs of the urban poor and for
his use of traditional methods and
materials.

e He was awarded the Padma Shri in
1972, and the second highest civilian
honour, the Padma Vibhushan given by
Government of India in 2006.

22 FrgRITH e AT?

(A) TsaId Teh HTeT s eh
(B) Teh AT greifaie

(C) & T Tk gAY RFFR
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(D) T HIRATS Feltel

A. (A)

B. (B)

C. (D)

D. (O

Ans. B

Sol.

e Confucius was a Chinese
philosopher who lived in the 6th
century BCE.

e The philosophy of Confucius is also
known as Confucianism.

23.?1%306&%9%%?7@%37@?
Teh &1 F 15 e & FHACT R THhd &, ar
25 =afea gyfafes fhder g¢ FeT axa §'U3@f
FIH T 12 &7 & AT FE?

(A) 8

(B) 10.5

(C) 12.5

(D) 15

A. (A)

B. (C)

C. (B)

D. (D)

Ans. C

Sol.

M1xD1xH1=M2xD2xH2

30x15%x7= 25x12xH?2

30 x 15 x 7
H2=————— =105
25 x 12
24 z1eT {3 S9er gant fAfdd 39 Seeie

HTY HT T AH § [0 HART TR & §-
AT WA & TH HIT & T H WAwE Far
I 82

(A) TeFd

(B) Soateiy

(C) 3ATenrRm

(D) wTH

A. (A)

B. (B)

C. (D)

D. ()

Ans. D

Sol.

e Aakash is an Android-based tablet
computer promoted by the Government
of India as part of an initiative to link

P
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25,000 colleges and 400 universities in
an e-learning program.

e It is produced by the British-
Canadian company DataWind.

e The tablet was officially launched as
the Aakash in New Delhi on 5 October
2011.

25.faereifar aARTe &-

(A) YoId T2AA

(B) T& 3¢

(C) feT &7 Fegg

(D) FISTaH (Hargrerd)

A. (A)

B. (D)

C. (O

D. (B)

Ans. B

Sol.

e The Victoria Memorial is a large marble
building in Kolkata, West Bengal.

e It was built between 1906 and 1921.
e It is dedicated to the memory of
Queen Victoria (1819-1901).

e It is now a museum and tourist
destination under the auspices of the
Ministry of Culture.

26.81d # 3T IERdTE T IREH el g37
qr?

(A) 2005

(B) 2014

(C) 1978

(D) 1991

A. (B)

B. (D)

C. (A)

D. (C)

Ans. B

Sol.

e The economic liberalization in India
refers to the economic liberalization of
the country's economic policies.

e It was initiated in 1991 with the goal
of making the economy more market-
and service-oriented, and expanding the
role of private and foreign investment.

27.77¢ T T &l T@ol § AT 386h [ & AT
T § Y 9T 3 Ry 1S §2
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(A) 1
(B) 2
(C) 3
(D)

A. (A)
B. (D)
C. (B)
D. (C)

Ans. B
Sol.

Ramu's father

Ramu's — Ramu— Ramu's
sister sister

Ramu doesn’t have any brother.

Hence, the correct option is B.

28.3Fglel T &2

(A) TS AR 3Y-TXATI] HUT ST 3TN el
J

(B) T &=13mafara 3Y-9YATY] T

(C) Tsh HOT MR IY-IRATI] 0T

(D) Teh 3Y-UXATY] T ST TA = &
A. (O)

B. (B)

C. (A

D. (D)

Ans. A

Sol.

e The electron is a subatomic particle,
whose electric charge is negative one
elementary charge.

e Electrons belong to the first generation
of the lepton particle family.

e The electron has a mass that is

approximately 1/1836 that of the
proton.

29.0F YUY e T & v PEafaf@a
IeaafEyd A T Jofedafedd Y 3
37 ¥ et & T

(A) AYAPPA

(B) WARST

(C) PAGER
(D) ANGOM

e
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A. (O

B. (D)

C. (A)

D. (B)

Ans. D

Sol.

After rearranging the above letters,
following words are formed-

A) PAPAYA

B) STRAW

C) GRAPE

D) MANGO

From above words, straw is different as
all the three are fruits.

Hence, option D is correct.

30.T& &R 54 fheT./er i ard & Terdr B
g8 #R 1 Aee & ool gt a7 Hf?
(A) 9 fa.

(B) 90 #Hrex

(C) 900 #Hrex

(D) 540 HreX
A. (O

B. (B)

C. (D)

D. (A)

Ans. A

Sol.

Speed of car=

54 km/hr =54 x %m{min =900 m/min
Time= 1min

Distance= Speed x Time= 900x 1=
900metre

31.37F¢sR 2015 H AU &Y T HiTpidh
Trotee o fgerd foham amam 72
(A) TCIATY FHIAART

(B) T. 3. GATT

(C) goy u$

(D) 3Trem e

A. (C)

B. (D)

C. (A)

D. (B)

Ans. D

Sol.

e AR Rahman was on 8th October
2015 named as the Cultural
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Ambassador of Seychelles for his
contribution in enhancing the country’s
Art and Culture Development.

e He has won two Academy Awards, two
Grammy Awards, a BAFTA Award and a
Golden Globe.

e Seychelles, officially the Republic of
Seychelles is an archipelago in the
Indian Ocean.

32.T% qHG[IaTg ST H HATT FHioit Hr
HFAW 91T (3x + 3) Ua (2x + 5) & x &r
AT AT FIfAT|

-8
(n) 5

n|

(B)
1

(D) 2

A. (B)

B. (C)

C. (A)

D. (D)

Ans. D

Sol.

The side opposite to two congruent
angles are also equal then we have
3x+3=2x+5

x=2

33.3|T-|T§° 1905 # forder s9mer AT &1
e fe=m ar?

(A) IR gfecTa

(B) dIfs sXfaeT

(C) &S Foret

(D) fa&F3e AT3cde

A. (O)

B. (B)

C. (D)

D. (A)

Ans. A

Sol.

e The Partition of Bengal came into force
on October 16th 1905 headed by
Viceroy Lord Curzon.

e The province of Bengal was divided to
the Hindu majority “Bengal” and the
Muslim majority “East Bengal and

Assam” with its capital as Dacca (now
Dhaka).

e
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34.Us qEds FT [asha Hed 38 I Hod H
15

15 g B oot wfdvera Fra Fifaw|
(A) 20%

(B) 22%

(C) 26.6%

(D) 30%

A. (D)

B. (C)

C. (A)

D. (B)

Ans. B

Sol.

9
sp = EC‘U ......... (Given)

X 100 = 22 % 100 =

cp cp cp

4
— %100 = 26.6%
15 °

profith =

35.37¢ Pacific : Ocean, df Bay of Bengal :

(A) Ocean

(B) Sea

(C) River

(D) Creek

A. (B)

B. (A)

C. (D)

D. (C)

Ans. A

Sol.

Pacific is the ocean.
Similarly, Bay of Bengal is a river.
Hence, option A is correct.

36.0h HAL FHI dFaTS, ISTS T FATS ha:
363 #Hiex, 528 Hiex vd 693 e §| 39
Y o T FI a8 AT AT ST HAL FHI
et Ta@AT3AT &l quie: AT |

(A) 33 #reX

(B) 35 #reX

(C) 27 #Hrex

(D) 30 #Hex

A. (C)

B. (A)
C. (B)
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D. (D)

Ans. B

Sol.

The longest tape that can measure the
three dimensions of the room exactly is
the HCF of (363,528,693)

Factors of

363=3x11x11

528= 3x11%x2Xx2%x2x%x2

693= 3x11x3x7
HCF(363,528,693)=3x11=33

33 metre is required length of tape

37.%CgeY # TR A Hafered Y7 (RAM) T
TR &9 a1 872

(A) A Trag AARY

(B) RIer v e AARY

(C) Y=31#elT Tdalad HARY

(D) =7 g Ad=

A. (B)

B. (A)

C. (D)

D. (©)

Ans. B

Sol.

e Random access memory (RAM) is a
type of data storage used in computers
that is generally located on the
motherboard.

e This type of memory is volatile and all
information that was stored in RAM is
lost when the computer is turned off.

e It makes it possible to find specific
information very quickly.

38.3f¢ forell Yo W 5% ufd av Hrex &
2 Nt 3 Thqe e SUTST Td HIYURUT SATST i
AT 225 T4 §, A Herue A1 HfT|
(A) 75,000 5

(B) 80,000 35

(C) 85,000 &5

(D) 90,000 ¥9x

A. (D)

B. (B)

C. (O)

D. (A)

Ans. A

Sol.
Let the principle =100

P
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%Rate=5%

100 Xx —x 2 = 10
SI of 2yr= 100

- 2
100 - 100 x (1 +->) =10.25
CI of 2yr= 100

CI -SI= 0.25=225(Given)
Then 1=900 & 100= 90,000 = Required
principle

39.9¢ 4 TFY 96 HeX el AR HT 2 e &
NS X Fhol §, AT 6 G2V 72 #He ol dan
T S fohder &t & er?

(A) 1 et

(B) 2 feat

(C) 3 fea

(D) 4 fea

A. (A)

B. (C)

C. (D)

D. (B)

Ans. A

Sol.

Solution.
MixD1xH1 _ M2xD2xH2

Wil W2
_ MI1XDIXH1IXWZ  4x2X72

D2 =
M2 xH2xW1 966

40.87%fesh (Geocentric) 3R Fhhfzasw
(Heliocentric) & forw sle-ar qrienia ereg
UGl BIcT 87

(A) gt 3R g & °RT 3R 7167 3R At
aifd & |efted s

(B) 31arvf gyelet Alsel

(C) urdiat I & AT & Fag # gH7

(D) VA g & [TIRYRT & & TFerT

A. (A)

B. (D)

C. (B)

D. (C)

Ans. A

Sol.

e The terms Geocentric and Heliocentric
refers to laws governing the motion of
planetary bodies around Earth and
sun.

e In astronomy, the geocentric model is
a superseded description of the Universe
with Earth at the center.

= lday
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e Under the geocentric model, the Sun,
Moon, stars, and planets all orbited
Earth.

e Heliocentric is the astronomical
model in which the Earth and planets
revolve around the Sun at the center of
the Solar System.

41.M, G T 578 § ST g C §| M & ar
fod 9o C & 99 & Hafera g2

(A) T

(B) &TAT

(C) T

(D) dswrex

A. (D)

B. (C)

C. (B)
D. (A)

Ans. A
Sol.

Father

G

c-

C's son

M’s father is the grandfather of C’s son.
Option A is correct response.

42.8 9eTolt &1 3it|a 10.5 §| afe 7 vefor 3,
15, 7, 19, 12, 17 ©g 8 gl ar 3Taar 3&yor
AT FIfST|

(A) 10

(B) 11

(C) 3

(D) 12

A. (D)

B. (A)

C. (B)

D. (C)

Ans. D

Sol.

Let the required number is *x’
3+154+7+19+124+17+8+x — 105

Then 8
81+x=84
X=3

e
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43.Ue Sfa Flolst AFATaf@d e g et
arell el 10 & 30T STa1 &7 Y3er o &

1) 37 faefdat o Sieglar 3aer # 75
gfaera ar Rl & 80 wfaera 3% wrea foar
g

2) 3 faeanfiat &t fSegier a1foTd # 95
gfaera ¥ 31f8e Jar #ifaes & 90 wfaera 3w
greq fRar gt

3) facardl ot Welge # 3ea § AU
AGoTTeieh ardT # 35 g

frfafaa & & fora fagandf & gaer wicer
AfRad 7 @ o Fhar g?

(A) B & siifahr 7 90 wfaera, a1foia & 89
gfaerd 2T fgear & 75 gfaerd i 3ifora fomar
2T 98 U e aee |

(B) I o &ifahr 7 92 ufaerd, s1foa & 95.5
gfaerd aur feear & 81 ufawra 3w fora fomar
T 98 Teh T TWelTsT &)

(C) R o IO1TT AT & 93 gfaerd, afora &
96 wfaera ar 33t & 80 wfaerd 3w 3rfeid
AT TUT 98 STEhedid TeldT &

(D) D = #ifaehr # 90 gfaerd, W aed &
81 ufaerd, a1fora & 90 ufaera aar =ar &
75 gfaerd 31 3iford fFar aur ag v mas
gl

A. (B)

B. (A)

C. (D)

D. (O)

Ans. A

Sol.

(A) B secured 90%in Physics, 89%in
Mathematics, 75% in Hindi and is a
chess player. - Not selected - As he
secured 89% in mathematics

(B) I secured 92%in Physics, 95.5%in
Mathematics, 81% in Hindi and is a
guitarist. — Selected - Fulfils all the
conditions.

(C) R secured 93%in Chemistry, 96%in
Mathematics, 80% in English and plays

basketball. - Not selected - He does not
qualify for Physics.
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(D) D secured 90%in Physics, 81%in
Chemistry, 90% in Mathematics, 75% in
Hindi and is a singer. - Not selected - As
he is not a sportsperson.

44 AR H 9d Hifd & Sfeleh & ® H 38 AAT
ST 872
(A) 3fTeleq qdrell

(B) . adfter HRI=T
(C) Fs[aeier e

(D) FETHS Tl
A. (C)
B. (B)
C. (D)
D. (A)

Ans. B

Sol.

e Dr. Verghese Kurien is known as the
'Father of the White Revolution' in India.
e White Revolution was one of the
biggest dairy development movements,
by the Indian Government, in India in
1970.

e It was a step taken by the Indian
Government to develop and help the
dairy industry sustain itself economically
by developing a co-operative, while
providing employment to the poor
farmers.

45.d). 38 AT & TUTT T ohE R
e STeiel fogerd fanar arar ar?
(A) 9. STATEIATT Ag®

(B) TRER Tooldl HIS Tl
(C) 31. T TG

(D) &Y. JSEIITeaRY
A. (C)
B. (D)
C. (B)
D. (A)

e
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Ans. B

Sol.

e C. Rajagopalachari replaced
Viscount Louis Mountbatten as the
Governor General of India in 1948.

e He was the last Governor-General of
India, as India soon became a Republic
in 1950.

e He was the first Indian-born governor-
general, since before him the posts were
held by British nationals.

e He also served as leader of the Indian
National Congress, Premier of the
Madras Presidency, Governor of West
Bengal, Minister for Home Affairs of the
Indian Union and Chief Minister of
Madras state.

e He also founded the Swatantra
Party.

s 1,

46.3f¢ X g Y
EIGENCIY]
(A) 11
(B) 28
(C) 11/28
(D) 3

A. (B)

B. (D)

C. (O)

D. (A)
Ans. C
Sol.
Solution.

ar ) g

47 .37 &Y AT @i T AT T Temeltcd T
€| ITE o1 Gl & T HeT g7
(A) FTHAT

(B) HclrsT/sTTSTT
(C) g

(D) f&ar

A. (D)

B. (A)
C. (C)
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D. (B)

Ans. D
Sol.

< 2

sachin®

Guru

From the given options, Guru is the
nephew of Sachin.

Option D is correct.

48 Arafaf@d & & Fi9 A & AT -

ST, @&, 31E 31T, el G|
(A) T welY IR-FshrH ANATRAT g

(B) 3o @&t 1 elTol HHTd 61 ¢
(C) 3 THY FT 3ol THT &

(D) 51 & fRdY &7 AT THT g7 |
A. (D)
B. (C)
C. (A)
D. (B)

Ans. B

Sol.

e Common Cold, Ringworm,
Conjunctivitis, Whooping cough are
contagious.

e A contagious disease is a subset
category of transmissible diseases,
which are transmitted to other persons,
contagious can happen by air borne
route and also by physical contact.

49.3H HIUT FHT AT ATT HITAT AT 37T

39X VT HT Teh WATS &
(A) 45°

(B) 36°

(C) 90°

e
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(D) 58°
A. (D)
B. (B)
C. (C)
D. (A)

Ans. B

Sol.

Let the angle be 'x', so it's

supplementary angle will be 180°-x
_ . x=1x(180-1x)

According to question 4

5x=180°

x=36°

. 5
SiNG = —
13 St cosq #1 AT A

z

C
GBI BB Gle

N
O

(D) 1
A. (D)
B. (C)
C. (B)
D. (A)

Ans. C
Sol.

12
sin6=5/13
cos6=12/13

51.4 37T Gad BIET &IT AT HITST T Th
quT T &
(A) 1000

(B) 1024
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(C) 1081

(D) 1064
A. (B)
B. (C)
C. (D)
D. (A)

Ans. A

Sol.

The smallest four digit number is
1000and it's not a perfect square. But
smallest four digit number which is
perfect square will be near to 1000.
302 =900

312 =961

322 =1024

Therefore smallest four digit number
that is perfect square will be 1024.

52.8TRd I TUH 3YIAE iel-aT UT?
(A) 3aEe

(B) &%
(C) SrEaTed

(D) reaT
A. (D)
B. (C)
C. (B)
D. (A)

Ans. D

Sol.

e Aryabhatta was India's first satellite.
e It was named after the famous Indian
astronomer Aryabhatta.

e It launched on 19th April 1975.

e It was launched from Kapustin Yar, a
Russian rocket launch and
development site in Astrakhan Oblast
using a Kosmos-3M launch vehicle.

e It was built by the Indian Space
Research Organisation.

53.9¢T #AfeY (AR SFIeT) gl [2Ud g7
(A) HETSTRA

(B) fa®aedaqza

e
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(C) ganent

(D) faemEradsTs
A. (A)
B. (D)
C. (B)
D. (C)

Ans. A

Sol.

e The Shore Temple is located in
Mahabalipuram, Tamil Nadu.

e The Shore Temple is so named
because it overlooks the shore of the
Bay of Bengal.

e It has been classified as a UNESCO
World Heritage Site since 1984.

e It is one of the oldest structural stone
temples of South India.

e The city of Mamallapuram was founded
by the Pallava king
Narasimhavarman I in the 7th century
AD.

54.97 68.04 fFaca (FfeHh) darae @ 3780
AT & g SRIEX S7eeT g, af Jcdeh cafad

FT fhdeT araer fAeem?
(A) 18 T
(B) 1.8 forar.
(C) 180 fama.
(D) 1.08 fa.
A. (A)

B. (C)

C. (B)

D. (D)

Ans. C

Sol.

Total quantity of the rice=64.04
quantal= 6404 Kg.

Number of the people=3780

Each person will get =6404/3780=1.694
Kg.
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55,5, AR IARET Tolddl =g g2t
HeTT F fhaeh IRT 3R 37aier & aResAvT
HeT T Il FAT TET 87

(A) dogdr

(B) FHrel I1g (2T T 39918
(C) 4F 7E

(D) ST aIg
A. (B)
B. (A)
C. (D)
D. (C)

Ans. B

Sol.

e NASA is planning to move from low
earth orbit to space area surrounding
the planet Mars.

e NASA has planned even more
ambitious activities leading to a manned
mission to Mars.

e Mars Atmosphere and Volatile
Evolution (MAVEN) is a spacecraft
developed by NASA that went into orbit
around Mars to study the planet's
atmosphere.

e The National Aeronautics and Space
Administration (NASA) is an independent
agency of the United States Federal
Government.

e It is responsible for the civilian space
program, as well as aeronautics and
aerospace research.

e It was established on 29th July,
1958.

e It is headquartered in Washington
DC, United States.

56.210 HreX aFdl Tk eremar 108 fraY./aer
T AT T Il T & a8 Yor9mar 150 FHex ofef
TUh TolcWhId I fhdel AT & IR HLIM?
(A) 8 Tz

(B) 9 O3

(C) 10 T3

P
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(D) 12 ¥z
A. (C)
B. (A)
C. (D)
D. (B)

Ans. C

Sol.

Length of train = 210 m.
Length of platform = 150 m.
Speed of train=

108 km/hr = 108 X i =30m/s

Total length covered by train= length of
train+length of
platform=210+150=360m.

So time taken to cross the
platform=Length covered by train/Speed
of train=360/30=12 sec.

57.9R #EF dcd @il d 8?2
(A) 3T, HehY, ii i%f]a;uﬂ 3‘ﬁT QIéiQ IH

(B) fers, Nfdgs, Sdfoas gar skie
(C) weaifera#, faH, MAfgs 3 ot

(D) &1, gT8arete, iTFdreted 3R ArSeIelT
A. (C)
B. (B)
C. (A)
D. (D)

Ans. D

Sol.

e The four key elements of life are:
Carbon, Hydrogen, Oxygen and
Nitrogen.

e Carbon is the 15th most abundant
element in the Earth's crust, and the
fourth most abundant element in the
universe by mass after hydrogen,
helium, and oxygen.

e Hydrogen is most abundant element in
the universe.

e Hydrogen is also a promising source of
"clean" fuel on Earth.

e Oxygen is an important element that is
needed by most life forms on Earth to
survive.
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e It is the third most abundant element
in the universe and the most abundant
element in the human body.

e Nitrogen is a colorless odorless gas at
normal temperature.

e It is normally attached to another
nitrogen atom, making a nitrogen
molecule (N2).

58.af3 deelia o e Rgaiar 1 @ier 1
2
(A) =3 faeid

(B) TraTafeies dcal & 3MaTaRoi
(C) 3w g

(D) MeseT HieT
A. (D)
B. (A)
C. (C)
D. (B)

Ans. D

Sol.

e Mendeleyev is best known for his
discovery of the periodic law, which he
introduced in 1869, and for his
formulation of the periodic table of
elements.

e He was a Russian chemist who lived
from 1834 to 1907.

59.Tsh egfeFel Ueh doh & 7% Wi a¥ wehgefar
ST $Y X T (1 F7 ¥ §AfSd) v
YR 3UR T & T 2 a¥ &1 51294.6
T SATST T FXAT &| o ol IS YeRIT FAT
Ar?

(A) 462,000 9T

(B) 382,000 9T
(C) 354,000 ¥9T
(D) 428,000 T
A. (C)

B. (B)
C. (D)

e
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D. (A)

Ans. A
Sol.
Principal (P)="?
We are given
r=7%
t=2 years
CI= 51294.6 Rs.
1072
512946 =px (22) —p
51294.6 = p x 1449 /10000

p = 51294.6x10000 — 354000rs
1449

60.3% fashed &1 T3 T S e v oo

F AT o Y T &
Resign : Continue

(A) Retain : Hold on
(B) Quit : Give up
(C) Redeem : Restore

(D) Salvage : Abandon
A. (B)
B. (A)
C. (O
D. (D)

Ans. D
Sol.
Resign is the antonym of continue.

Similarly, salvage is the antonym of
abandon.

Option D is correct.

61.97¢ Z =26, DO = 19ar, IT = ?
(A) 26

(B) 27
(C) 28

(D) 29
A. (C)
B. (A)
C. (D)
D. (B)
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Ans. C

Sol.

The codes are given according to the
place value of alphabets in English
dictionary.

Z =26

D=4,0=15

So, DO =4+ 15=19
Similarly, I =9, T = 20
IT=9+20=29
Option C is correct.

62.TFR 2015 & FEafaf@a fFa ar
HRC AT I FoAEh! (UNESCO) shr
Torufea fer sicasd’ T gr 7 enfae fram
AT 82

(A) aRTOMET 3R SRR

(B) 3marear 3R Farfe—R
(C) garaT AR deersi

(D) #gt 3R 3sote
A. (A)
B. (D)
C. (B)
D. (C)

Ans. A

Sol.

e Two Indian cities, Jaipur and
Varanasi were added to the Creative
City Network of UNESCO in December
2015.

e Varanasi, Uttar Pradesh has been
added in the City of Music category of
network.

¢ Jaipur City, Rajasthan has been added
in the City of Crafts and Folk Art
category of network.

e UCCN was launched in 2004.

e The Network covers seven creative
fields: Crafts and Folk Arts, Media Arts,
Film, Design, Gastronomy, Literature
and Music.

e
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63.5afFcs 3N 7 yAfeee fBasa Hr
eI & fohd IR d9aATe &t faf3a fear
ST 87

(A) 9RTY &I G Fh

(B) uRgy & digat

(C) 9RTYT #H HFleic F TR

(D) 9RTY & FFulec HI a8 Ph
A. (A)
B. (D)
c. (Q)
D. (B)

Ans. D

Sol.

e Thermostat is a device in ovens
which helps to maintain a temperature
by breaking the circuit.

e A thermostat is a device for controlling
heating and cooling systems.

e It consists of a circuit controlled by a
temperature sensitive device and
connected to the environmental system.
e These are used in air-conditioning
systems and in refrigerators, ovens
and water heaters.

64.af¢ CALENDAR = AYJCLBYP, ar

STABLE =
(A) RQYZCJ

(B) QRYZIC
(C) QRYCZJ

(D) RQCYZJ
A. (A)
B. (D)
C. (C)
D. (B)

Ans. D
Sol.
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Similarly,

Hence, the correct response is option D.

65.TIMeIMET H g &I AT & forw e
TFETS ATIH T JI1T FRAT 1T §7?
(A) derex

(B) 9RE®
(C) weprer ay

(D) &eael TS
A. (D)
B. (C)
C. (A)
D. (B)

Ans. B

Sol.

¢ A light-year is a unit of length used
informally to express astronomical
distances.

e It is approximately 10 trillion
kilometres (or about 6 trillion miles).

e As defined by the International
Astronomical Union (IAU), a light-
year is the distance that light travels in
vacuum in one Julian year.

66. FFhICId PR &l GER TohE w1 & Sie
ST 87
(A) F=IR ENR

(B) #relepr AR
(C) JIaTedIT ¥RR
(D) ATIET IRR
A. (O)

B. (B)
C. (A)

e
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D. (D)

Ans. A

Sol.

e The Laccadive Sea is also known as
the Lakshadweep Sea.

e It borders India, Sri Lanka, and the
Maldives.

e This is a warm sea with rich marine life
and is host to approximately 3,600
different species of flora and fauna.

e The Laccadive Sea also serves as a
coolant for the Kudankulam Nuclear
Plant.

67 .93 HITAT ;
418 +7./32 - 250

(A) 3052
(B) 323
(C) 3642

(D) 3043
A. (B)
B. (D)
C. (A)
D. (C)

Ans. C
Sol.

—_2.0E0
On simplifying 4V18 +7v32 — 2v50
_HIXx2+7JI6x2 —2V25 x 2
_12y2 +28y2 — 10y2 = 322

68.GSM & TAEATRT T FT §7?
(A) TSN e »ik Afsfordr

(B) Toliael TAECH BN AIGISA Hegsiiehalsl
(C) I R{TeH B ATSA

(D) 35 AFeaA B AsA

A. (D)

B. (C)
C. (A)
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D. (B)

Ans. D

Sol.

e The Global System for Mobile
Communications (GSM) is a standard
developed by the European
Telecommunications Standards Institute.
e It was developed to describe the
protocols for second-generation digital
cellular networks used by mobile devices
such as mobile phones and tablets.

e It was first deployed in Finland in
December 1991.

69.21 HEATT 2 : 3 F 3d # §| A 9+
&I & ¥ 12 g Y, ar 9Rome Ean3it
T 34Tl 5 : 8 §Y STl §| F&AW AT
FrifST|

(A) 16 3R 24

(B) 35 3R 56
(C) 72 3R 108

(D) 20 3R 48
A. (C)
B. (A)
C. (D)
D. (B)

Ans. A

Sol.

Let the number be x and vy.

x/y= 2/3

3x=2y or 3x-2y=0

When 2 is subtracted from both the
numbers, ratio becomes 5:8

x—2 b
y—2 8
8x-5y=26

From equation 3x-2y=0 and 8x-5y=26,
we gets x=72 and y=108
So given numbers will be 72 and 108.

70.57=7a3 2016 # TR (IR 37aler
ITHET HaTSe) T HTATIT el of ST IAT?
(A) daTeT®

P
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(B) geXTeTe
(C) Frereprdr

(D) freaeidqRe
A. (C)
B. (A)
C. (D)
D. (B)

Ans. B

Sol.

e The Indian Space Research
Organisation (ISRO) is the space agency
of the Government of India.

e It is headquartered in the city of
Bengaluru, Karnataka.

e Its vision is to "harness space
technology for national development
while pursuing space science research
and planetary exploration”.

e It was formed on 15th August 1969.
e Currently, K. Sivan is the chairman of
ISRO.

71.91set & UR oA feu atv §| fave goa
Fifaw:
(A) Circular : Circle

(B) Rectangular : Rectangle
(C) Diagonal : Square

(D) Linear : Line
A. (B)
B. (A)
C. (D)
D. (C)

Ans. D
Sol.
Circle is circular in shape.

Rectangle is rectangular in shape.

Line is linear in shape.

But square is not in Diagonal shape.
Diagonal joins two opposite corners of a

square, rectangle, or other straight-
sided shape.
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Option D is odd one out.

72 Aeaarsarere, U3t W STEd H W TGS
(A) gra @

(B) ST {1t &
(C) goi=l &

(D) S &
A. (D)
B. (B)
C. (C)
D. (A)

Ans. B

Sol.

e Galvanization is the process of
applying a protective zinc coating to
steel or iron, to prevent rusting.

e The most common method is hot-dip
galvanizing, in which the parts are
submerged in a bath of molten zinc.

73.3f& P HT I, A H I+, W
F AT EIFAY FT AT g A
fAFIfad sdete &1 AT &
13P3A11Y26P6 W 13 A 19

(A) 50
(B) 38
(C) 57
(D) 43
A. (B)
B. (A)
C. (D)
D. (C)

Ans. D
Sol.

letters P A W Y

meaning x + = =

After changing the symbols,

e
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13x3+11-26x6+13+19
(applying BODMAS)

=>13x3+11-2x6+19
=>39+11-12+ 19
=>50-12+ 19
=>69 - 12

=> 57

Option D is correct.

74. FFATaf@d & ¥ 5 ‘g 99 Wleec
31 J9TT UG ‘G M3 DI & ATH I ATl
ST 87

(A) feaTerd gda

(B) drell FAEY (Ireelr Rav)
(C) T &1 FgI Sraret

(D) 3. IR, AR, el faf@d g
A. (B)
B. (C)
C. (A)
D. (D)

Ans. B

Sol.

e The Purple Frontier, The Earth Dragon
and The Outer Fortresses, all refer to
The Great Wall of China.

e It is the collective name of a series of
fortification systems generally built
across the historical northern borders of
China.

e The Great Wall of China was
constructed from the 7th Century BC
by the Chu State and lasted until 1878
in the Qing Dynasty.

75.504 fa=e # DNA T fa&gd &9 &
(A) g-Afe TaFHeiRT
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(B) S3iterdrgalegFolier Ufis
(C) fefSice seas 3nfeheaR

(D) f3SISa1es ARTeAeT UTRET
A. (A)
B. (B)
C. (D)
D. (C)

Ans. B

Sol.

e DNA or deoxyribonucleic acid is a
long molecule that contains our unique
genetic code.

e It is a molecule composed of two
chains that coil around each other to
form a double helix carrying genetic
instructions for the development,
functioning, growth and reproduction of
all known organisms and many viruses.
e American biologist James Watson
and English physicist Francis Crick is
considered to be inventor of DNA.

76.9d &I Hafed Helsl 8 AT ST 82
(A) IR Fiaers

(B) S
(C) 31. 3Fdga &I fAere

(D) ereAfavdeTar
A. (A)
B. (B)
C. (C)
D. (D)

Ans. A

Sol.

e The Constitution of India is the
supreme law of India.

e The document lays down the
framework demarcating fundamental
political code, structure, procedures,
powers, and duties of government
institutions and sets out fundamental
rights, directive principles, and the
duties of citizens.

e It is the longest written
constitution of the world.

P
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e B. R. Ambedkar, chairman of the
drafting committee, is widely considered
to be its chief architect.

77 %Y & 9 Fo fashy fu o &
YT

A) F AgTd & FIS Aheq 8T g

B) 3 AgaAd e arel IROUNH & 9 gaem
3menfead W®d g

IGA=DF

I. IROTH YTod el o folT Hhar Agedd &
3{elTar 3R IS Aféehe 78T &

I1. F3r AgaAd & [ARad & Thelar Herdr g
T 1T Fyat & ie-ar Ashy foehorar &2
(A) Fad [Ty [ [Fererdr B

(B) Fael forsay 11 fAererar &

(C) sy 1 3R 11 &t Feverar &

(D) T A I & II Aperar g

A. (B)

B. (A)

C. (D)

D. (C)

Ans. B

Sol.

Those who work hard tends to have
more success, but there may be other
substitutes to success.

Hence, only conclusion II follow.
Hence, option B is correct.

78.Teh HATd HRAT & Siaed IRT (G
ICIETAATEY 3HTH VT AT S3TA) AR
qEde e fordy o

(A) HgTcAT aTrelr

(B) siRe-&T aterdy
(C) TAATT TN
(D) 3. & AR

A. (D)
B. (C)
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C. (A)
D. (B)

Ans. D

Sol.

e The Autobiography of an Unknown
Indian is the 1951 autobiography of
Nirad C. Chaudhuri.

e This book records his life from his birth
in 1897 in Kishorganj, a small town in
present-day Bangladesh.

e Nirad C. Chaudhury authored
numerous works in English and Bengali.

7 28 4 7 32 8
—t—F-=—X—=x—-=1
16 32 8 16 28 4

80. o1 HEam H@er # g e (?)
1,2,6,12,36,72,?, ___
(A) 108

(B) 144

(C) 180

(D) 216

A. (A)

B. (C)

C. (B)

D. (D)

Ans. D

Sol.

x2 x3 x2 x3 x2 x3
1 2 12 36 72 216

Hence, option D is correct.

81.72 #Hrex x 90 #HreX faar & wY W s
ST §| Tedeh TSl T $oTT T JTeIehcrs
TFEATS FAT BN IfE haol FITHR TS T
AT AT ST 872

(A) 12 #AieX

P
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(B) 15 AlX

(C) 18 #Hiex

(D) 9 #Hex

A. (D)

B. (A)

C. (B)

D. (©)

Ans. D

Sol.

Breadth of floor =72 m.

Length of floor=90 m.

The size of each side of the square tile
should be such that it must divide both
the breadth and length of the floor, then
only we can use complete tiles.

So maximum size of each side of square
tile

HCF of 72 and 90= 18 m.

82.fha URT AR Hifaeemer &
TEAT H e & TS GHATI] St I T
QeT: ATHEOT Seleh AATH 9T foham arar ar?

(A) EY.a. HA

(B) AqHPSIT THATIA

(C) BT STglefy st

(D) ISR AT

A. (A)

B. (D)

C. (O)

D. (B)

Ans. C

Sol.

e Homi Jehangir Bhabha was the
founding director of the Atomic Energy
Establishment, Trombay (AEET) which is
now named the Bhabha Atomic
Research Centre in his honour.

e The Bhabha Atomic Research Centre
(BARC) is headquartered in Trombay,
Mumbai, Maharashtra.

e He was an Indian born nuclear
physicist.

e He made important contributions to
quantum theory and cosmic
radiation.

e He is known as the “father of Indian
nuclear program.”

e He was the first Chairman of The
Atomic Energy Commission of India.
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83. fadern: fArafaf@a SR &1 3regdeT ax
A e a1T geat & 3R difST:

J,Y, R, M a1 B 9ia cgadrg 2T, 3o,
foreTen, SSNfaTR, dehaiTAT T ofET TSR
H FeldsT § 9T 3% ITH 9T el § J2T,
HISTSS, AU, Shelhelel, TTole Tl Hegel
W TG e & o ST shad H| Teh cgiekdl
Hhaol Ueh cIadd H Heldel g AT 38 a1
Fdd T IeE g

1) M & U T holpelel § ddr & ar
feTh § o & depei g |

2) BN & 9 e ¥

3) o IfFd & urg Aesd § a8 o o
@ SR 7 & fAeTH|

4) Y Th e § fode arg of ar gl
g o & ez

5) ] U dhelliAdd § 2T B U RUeTeh AT
gl

fohereh arg shegeR 87
(A) B
(B)J
(C)R
(D) Y
A. (A)
B. (D)
C. (B)
D. (C)
Ans. D
Sol.
Persons Professions Gadgets
1 Technician Mobile
Y Engineer Laptop
R Teacher Computer
L] Accountant Calculator
B Designer Tahlet

R has a computer.
Option D is correct.

84. AT H ¥ HiaT-a1 GAT=T TEY &7

¥Td NTPC 2019 Aih & 9w
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(A) Rreteh-siuerT
(B) forar sifferi-¢sele
(C) ToheiRITT-hegeX
(D) SoffelzR-clver
A. (D)
B. (B)
C. (A)
D. (C)
Ans. A
Sol.
Persons Professions Gadgets
] Technician Mohile
Y Enginear Laptop
R Teacher Computer
mM Accountant Calculator
B Designer Tablet

Engineer - laptop is the right
combination among all the options
according to the above figure.
Option A is correct.

85.3@r I & grH HiA-aT1 el &7
(A) sele
(B) &eldpeleX
(C) ASTSer
(D) duer
A. (D)
B. (B)
C. (C)
D. (A)
Ans. B
Sol.
Persens Professions Gadgets
J Technician Mobile
Y Engineer Laptop
R Teacher Computer
m Accountant Calculator
B Designer Tablet
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The accountant has Calculator.
Option B is correct.

86.48 & @l EciTcH I[UTTWS! T ATTEAHT

AT HITAT|

(A) 16

(B) 12

(C) 8

(D) 7

A. (D)

B. (A)

C. (O

D. (B)

Ans. A

Sol.

All the positive factors of 48
1,2,3,4,6,8,12,16,24,48

Number of total factors is even so we
will take two middle terms to calculate
median

_ Lx (5thterm + 6*hterm)
Median=2

%x(6+8)=7

87 .AFAToad SRR &7 31ETTT HFY 39 W
TR T2 &7 3R GIfoie:

Generation gap is more visible in many
of the organizations today including all
the financial institutions which have
gone digital. This is because such
institutions prefer to employ well
qualified persons with or without
experience, through the lateral entry
channel. As a result, co-existence of
experienced employees with highly
qualified new candidates has become
increasingly difficult.

3T 91T 3reTesse @ Hla-a1 forseny forehorar 82
(A) Bridging generation gap is not
possible.

(B) Well qualified people do not listen to
experienced people.

(C) Experienced people have become
redundant.

(D) Financial institutions have adopted
digital technology

A. (B)

B. (C)

C. (D)

e
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D. (A)

Ans. C

Sol.

As, the financial institutions have gone
digital, which implies that such
institutions are more inclined to those
people who know how to use the new
technologies. Hence, it can be concluded
that financial institutions have adopted
digital technology

Hence, option C is correct.

88.20 HTEAT I°el W Teh GhleIeR 4 HIAA &
TashT HeT & SRET o1 HATAT §| SHAT o1

gfaera Far g2

(A) 20%

(B) 25%

(C) 33.33%

(D) 15%

A. (D)

B. (A)

C. (©

D. (B)

Ans. D

Sol.

Let the selling price of one chair=x
Selling price of 20 chairs=20x
Profit=4x

Profit=selling price-cost price
4x=20x-cost price

Cost price= 20x-4x=16x

%100 = 25%
Percentage profit=16x

89. fader: AeraAfafad 3IRNW FT JETTT AT
38 W 3R 9Lt & 3R AT

3G T TATS F AN T JEITT T
qEE & R T

e

150
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g AT 3UATH Il Ugar el T Shdol

FATIR 9 Ugot aTell & 3eUTe &
20

(A) ®
27

(B) 10
9

(C) 15
9
(D) 20
A. (O©
B. (A)
C. (D)
D. (B)
Ans. C
Sol.
People who read both magazines and
novels = 90
People who read only newspapers = 200
Ratio = 90/200 = 9/20
Hence, option C is correct response.

90.39TH UgsT dlel d2T HATAR U U drel
fFaar & g a1 AT 87

(A) 250

(B) 240

(C) 200

(D) 190

A. (O

B. (B)

C. (D)

D. (A)

Ans. A

Sol.

People who read novels = 350 + 150 +
450 + 90 = 1040

People who read newspapers = 200 +
150 + 450 + 40 = 840

The required difference = 1040 - 840 =
200

Therefore, the correct answer is option
A.

91,3 olieT Shael IT3HT Yo & &1 T At
TGl arel Sl @ 3FeTuTd

(A)1:
(B) 1:
(C)5:
(D) 4 :

O O WU

e
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A. (C)
B. (D)
C. (A)
D. (B)
Ans. D
Sol.

The people who read only magazines = 150.
The people who read all three = 450

So, the required ratio=150:450=1:3
Hence, option D is correct.

92.U &I AW H “table’ frd g foram
STUaT STer ‘costly dining table’ &t ‘an ob
cp’ for@r SiTar & a1 ‘cannot buy table’ #r
‘es an dq’ for@r Sirar &7

(A) ob

(B) cp

(C) dq

(D) an

A. (C)

B. (B)

C. (A)

D. (D)

Ans. D

Sol.

Costly ob/ep

Dining ab/fep

Table an

Cannot es/dq

buy es/dg

In the above table, the code is clearly
mention.

So, the code of table is “an”.

Hence, option D is correct.

93.cosec?A x cos?A = ?
(A) tan?A
(B) cot?A
01

(D) sec?A
A. (A)

B. (D)

C. (C)

D. (B)
Ans. D
Sol.
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% cos?A = cot?A

cosec’A X cos*A= —
sin“A

94.Uh FCAST A Tl 370N T AT 33l &

FIAT ?
(A) 180°
(B) 360°
(C) 540°
(D) 900°
A. (A)

B. (C)
C. (B)
D. (D)
Ans. D
Sol.

We know that polygon of n sides can be
divided into (n-2) triangles.

Sum of angles of a triangle=180°

So, sum of the angles of (n-2) triangles,
=(n-2)x180°

=(7-2)x180°

=5x180°

=900°

95.f&dFsR 2015 & ATHT & J=ATTAehl o gdT
T 91X R TATT W U= & Jqreg gred fhdr
8?

(A) g 18

(B) sivegsT

(C) HITA I8

(D) Ut I1g

A. (O)

B. (A)

C. (D)

D. (B)

Ans. A

Sol.

e In September 2015 NASA scientists
found evidence of flowing water outside
earth on Mars.

e Mars is the fourth planet from the
Sun and the second-smallest planet in
the Solar System after Mercury.

e This planet is also known as the "Red
Planet".
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e It is a terrestrial planet with a thin
atmosphere.

96.2 319gsR, 2015 IS g% IFTT T FeT
HIeAT BT ATH FAT g7

(A) FFCT el

(B) 3fcwIec 56

(C) e

(D) 37T 5

A. (O

B. (A)

C. (B)

D. (D)

Ans. C

Sol.

e Alphabet Inc. is an American
multinational conglomerate.

e It is headquartered in Mountain
View, California.

e It was created through a corporate
restructuring of Google on October 2,
2015.

e It is the parent company of Google.

97.\T3C Haeloldl &-

(A) AT gadATT T T ST AT
(B) AT3C Ta¥C & 3R H TUT

(C) faea =T qET |l 3= udd

(D) fa2a &1 IRRT F&& Fa1 9dd

A. (©

B. (D)

C. (B)

D. (A)

Ans. C

Sol.

e Kanchenjunga is the third highest
mountain in the world.

e It rises with an elevation of 8,586 m
(28,169 ft).

e It is situated in the eastern Himalayas
on the border between Sikkim state,
northeastern India, and eastern Nepal.
e The mountain is part of the Great
Himalaya Range.

e Kangchenjunga was first climbed on
25 May 1955 by Joe Brown and
George Band, who were part of a
British expedition.
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98.Teh fOdT o 9= HARY T 1/3 T ool
fT 3refer e AW YR 1 39 ey g A
$HHI: 2 : 3 1 5 % efura & qie faam| afy
gge g7 @I 48000 F0d A &, o rar &
U FeT fohcielt HRY oA?

(A) 480,000 T9&

(B) 240,000 T9&

(C) 360,000 FT

(D) 120,000 ¥9

A. (B)

B. (D)

C. (O

D. (A)

Ans. A

Sol.

Ratio of wealth divided among sons is
2:3:5

1/3 of total wealth is given to his wife so
2/3 of total wealth will be shared among
his sons.

Let wealth divided by his sons 2x, 3Xx,
5x.

We are given that 2x=48000 Rs.
x=24000 Rs.

So wealth divided among
sons=2x+3x+5x=10x=10%x24000=2400
00 Rs.

2/3 of total wealth is=240000 Rs.
Therefore total wealth=

gx 240000 = 360000Rs

99. 7T U Ford &I 3T A Hedlel Yol
IrelT AR IUAGICAT T TUH [Qea) et
q?

(A) AGFAG TellA

e
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(B) arge sifean

(C) &l e

(D) f&Ae gt

A. (A)

B. (D)

C. (B)

D. (©)

Ans. A

Sol.

¢ Mohammed Salim was an Indian
footballer from Calcutta, West Bengal.
e He was best known for his role in the
fabled 1930s Mohammedan SC team
which claimed five successive Calcutta
Football League titles.

e He also became the first player from
the Indian sub-continent to play for a
European club, Celtic FC.

100.Teh 9IRMMeh &I foshl TR 15% T &3 & gifed
225 9 §| UM T h Heod FAT 57

(A) 1725 39

(B) 1500 9

(C) 1275 30

(D) 1875 ¥u&

A. (D)

B. (A)

C. (B)

D. (C)

Ans. C

Sol.

Let the cost price of dress =x Rs.

Loss at 15% on dress is= 225 Rs.
X X — = 225

So 100

x=1500Rs.

Therefore cost price of dress will be

1500 Rs.
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